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Verifying Trigonometric ldentities

1) Write each expression in terms of sine and cosine and simplify it.

1) secdcot@sin @ 2) cotdsin@

3) sin? 9(csc2 6—1) (secO-1)(secd+1)

5) cos@dcscé cot? ¢9(1+tan2 6’)

cos@+sin@

1- 1
7) e (1-cos@)(1+sech)

1-sin?@
9) m secf—cos@
cos? @ —-sin’ 0

_ (sec+csch)(cosd—sin o)
singcosd

1+tan?@

=7 sing(cscd-sin o)
1+cot’ @

2) Perform each indicated operation and simplify the result

SeCX  CSCX 1
+ cotd+——
1) CSCX  SECX 2) cot @

cosb (sech +csch) t !

csc?x  sec?x

3)

1 B 1
sina-1 sina+1

5) tans (cots +cscs )

COS X sinx .
4 (1+smt)2+coszt
7) sinx  1+cosx

cosX sinx
+— (1+tans)’ —2tans
9) SECX  CSCX

11
1+cosx 1—cosx 12)

(sina —cosa)2
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